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| ' CHEMISTRY
~ (Skill Enhancement Course )
Answer the Questions from any one Option.

'OPTION-A ( Analytical Clinical Biochemistry )

Paper : CHE-SE-4014
OPTION-B (Green Methods in Chemistry )
- 'Paper : CHE- SE-4024 .
OPTION-C (Pharmaceutical Chemistryj
Paper : CHE-SE-4034
| OPTION-D -
(Chemistry of Cosmetics and Perfumes)
Paper : CHE- SE-4044

- OPTION-E (Pesticide Chemistry)
Paper : CHE-SE-4054
OPTION-F ( Fuel Chemistry)
Paper : CHE-SE-4064
Full Marks : 50
‘Time : Two hours

_ The figures in the margin indicate
. Jull marks for the questions.

Answer either in English or in Assamese. |
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_ OPTION-A
! Analytzcal Cltmcal Btochemtstry)
' Paper CHE— SE-40 14

1. Answer any four of the followmg

(Choose the correct answer | Fill in the
" blanks) : : 1x4=4

B ﬁmmwﬁmmww<mmaﬁ

,%\%Mm/nnﬁﬁiomasano

(a) In eukaryotes fatty a01d break dOWn. .

occurs inside .

T @R @IS, (77 M ﬁmw T
(i) mitochondrial matrix :
w@aﬁ%ﬁm YR TR Fw—
(lt) cytosol :
| PR foere
(iii) cell membrane
. QAR foete
i) endoplasmic ‘reticulum

' is the simplest amino aC1d

—_ SIORSLE e G S|

types of ammo
. acids are
required to synthes1ze a protein,

)

()

3 Sm-41CB05 CHE 8 Ly3jgs76/0 o

(@

o)

B AR R PERCR So gt
AT W

Pentoses pfeserit in DNA and RNA are

and _ respectively.
DNA W% RNA © 291 A%ee *R) R4 @
e [

Which one of the followmg ;s a non-
digestible polysaccharide ? .

TR R SRR G R (SRR e

(9)

(h)
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(i) Cellulose = oS
(i Starch CoNIR
{iii} Inuline = 3=
(iv) Glycogen ai3F'(e

Arachidonic acid has 20 carbon atoms
with ' double bonds.

T’ R ko zoﬁwmﬁmw
e A

Numerical changes in chromosomes are
called

@a’@’mﬂ\ﬁmvﬂmﬁa __@E=

Lactose is composed of - and

o TR G N W
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2. Ar’iswer: any three o
{a) What _aj:e cailed '
'cc,)agqlation of proteins ? :
o ﬁﬁﬂﬁ%ﬁﬁmwwa&w I @AEA?
S (b) ;)_qef%lneicq-enzyn‘1es and c'o.—faétofs. ‘
| TREOS SR AR s B

 (d) How does pH- affect
low _ on enzym
© . activity ? What is. called .

range? - A OPtimum pH :
%qymﬁaﬁ?maeﬂaspHcaﬁﬁmaw@mﬁﬁﬂa

P2 GGFETON pH iy

(g) - What are biocatalysts ? Give exa;

(o) SR 2 Surd fg mple.

() ~ What is called rancidi
ancidity of Lipidg 7
Feres B e B qure

Answer any 'two'of the following x

T RS 181 e e

A e

3.

Sx2=10

f the following .:0x3=6 |

d denaturation and

4. Answer any three of the followin

(b) What is biocatalysis? How is it
important in green chemistry ? '

o SEE R G TS 29 g {62
" (¢ Write a note on characterization of
polysaccharides. -
@I TR 89S oI (Bl =it |
(d) What are the structural levels of 'prot.ein
organisation ? Explain.
] - Z, o= .9,\ ~
oo FAReToma aMgF S DI S 2 [/
4l . _ :

() What are the chemical components of
nucleic acids ? Explain.

Frofre afiwa PRt SomreR & R

F4l | - S

() Explain the mechanism of lock and
key theory of enzyme action. .
Bl SR e fERiReEt i
34 | |

g:

. _ 10x3=30

o [l folinT e Tes FRA 8 |

{a) Write a note on Kreb’s cycie.
(TG ST Bl (Bl farel |
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(b) What are peptide hormones ? What are

. the
| Gle; ;na.tlill types of peptide hormones ?
€ name of . two peptide

hormones. ‘Write about the |

}l::;chemlstry of at least one peptide
mone. . 1+1+2+6=10

- CP1DIRG T 2 (o151 2 e o :

B F Re 75! CIPB1% T A |
Ricwen by cﬂs‘ﬁﬁw AT OO AT ¢S
faray |

(c) What is DNA rephcatmn? Explam

' DNA SHgoRA 52 i 31|

(d) How are proteins isolated and
characterized ? What is protein
denaturation ? 6+4=10

aﬁwmﬁaﬁwthaﬁrmqw
e Ao i [

() What is meant by genetic code?
Explain it. What are the properties of
genetic code ?

- feqin e dIe @A I &g
AFT 4IAR [ 59

() What are liposomes? Write some
biological functions of liposomes.

F‘M%‘ma o Bivre Rz (@lke il
T foral|
K] ISem-4/CBCS] CHE SE 1/2/3/4/5/6/G 6

(g How. many factors are there in blood

()

‘coagulation process ? Write a brief note
on blood coagulation process in human.

76 Trews P PRy PREE AW FR?
T (TR Se%R AFAIDR €siFS 5 (Bl
foran '

What are the major components of
urine ? How can we differentiate the .

. normal urine from pathological/

abnormal urine in case of Hepatitis-B

" virus infection in liver ?

@R oqR SoAmeegz & e el ca?ca?as
frorT (2ii5iaftz-B ©izaR HEAWR (FIo
WWW/@TW‘W?H%
ﬁcﬁ?rﬁaonmﬁ .
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1.

OPTION-B

(Green Methods in Chemistry)
Paper : CHE-SE~4024

Answer any four questions : - 1x4=4
(i) It is better to

treat or clean up waste after it is
formed. - o (Fill in the blank)

w—«»merem @R e CR 3T iR
TOT o Besimw
TGN | (wﬁmw—w}

(ii) The Pollution Prevention Act of
Was the first initiation in the U.S.

(Fill in the blank)

. gEaIge AW oqae fagy [
el 1 (2 | (<7 37 79 =) 91‘7 1)
(iii) The full form of CFC is -
{lel in the blanlc}
CFCI A™jd i g~ |
(<0557 3% 7 =)

(iv)] CO, exists as a supercritical fluid at

31°Cc and atm.

waste than to .

O @

31°C W atm BI%% CO, -
SSTFRET GETR 2ATFS 2N B (9T} AT ol
C)) '

v) Deﬁne atom economy.
W AR e
(v) Name the drug taken by pregnant

.~ women that may cause acute birth
defect.

TETS| NER F 874 CRA IR T TR
. T Rghe sfefrs = st
(i) Catalytic reagents are superior to

sto1ch10metrlc reagent. ,
(Select True or False)

Wi & | (97 7 &% 957 )
(viii) For green synthesis of adipic acid

- D-galactose can be used as the starting
material. (Select True or False)

S aiRey Givw wEEes D-CE S
RIS [T ol 931 =0 2|

(59 @ o% =)

(Fill in the blank)
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2. . Answer any three : ‘ © 2x3=6

. [eear fofania et 3 ¢

(@) Write a chemical reaction carried out
in water. as a solvent.

Rl

() What are the goals of green chemistry ?

GioT TATAE AR B

(c) - Write two addition reactions with 100% ,,

_ atom economy..

e xrteet oo <R R 701 G A

TarE fEran |

(d) Write the chemlcal reactions involved
-in green synthe51s of benzoic acid from

oluene

Bojza ol (e i e oiva "\Wc‘"

e R
(e) What is right fit azo pigment?
afis &% @@ IGT 2

() What is the structure of TBTO ?
TBTO 3 9057 & &4

3 (Sem-+4/CBCS) CHE SE 1/2/3/4/5/6/G 10

ﬁwwﬂw mmﬁmﬂﬁ :

3.

Write short notes on (ariy two) : 5x2=10

ﬁw@?ﬁmwmﬁm g

()

(ii)

(iii)

Bhopal Disaster
CRGRALR

Vietnam War (1970)
%C"J%?{Tﬂ? T@ .(>d90) ‘

Antifoulants

- GO TS

(W)

)

(vi)

Green synthesis -of ibuprofen -

YA (TST e

Green: solvents for chemical reactions .

Wﬁas Rieor crae |ge Giow =

Pressure treated wood

ol Boe 18

Answer any three questions given below ;

10x3=30

Tﬁ?n ﬁmmﬁﬁ?/m%@mm*’ v

(@)

Write the use of surfactant CO2 in the
field of dry cleaning.

w5 offfEre mﬁw CO,3 I92W R
feran |
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| Write at least two of the twelve

prmmples of green Chemistry in case
of recyclable carpet.

(FCH T (@oT o Be Give AR
I S &S B 7h e RKIREE

A (FES e Srme a |

. (b) Explam the use of ant1foulant in the (7 Write .the advantages and
' field of water transportati disadvantages of perchloroethylene
portauon. (PERC) used as a solvent for dry
W"[ﬁm_uﬂﬁiﬁw Wﬁ'&mﬁﬁﬁ cleaning. Draw the structure of
fran polystyrene COQ— copolymer. 8+2=10
(o] -Useofchrormurnand arsenic is restricted S “” cﬁ,cmﬂ TS T ARE :. j
~ -as. preservative for -wood industry. (PERC) {[ﬁ%ﬂ’W Iiil'”“l et ,'_i RS
 Discuss about their alternatives. W-ﬁ—m'ﬂi TQAIT 2167 S |
oW o SRR w AR oo o o  conthetic -
' - g ow can synthetic azo pigments
Wﬁmﬂ@?@m Qﬁmﬁﬂm replace toxic organic and inorganic
AR N pigments ? :
(d) ~What are lignins ? Explain the use of TREAS T G i G T (1 i
hydrogen peroxide for catalyzing the 51‘25; EFIR ”a'i‘?‘ IR ? _
- process of delignifying. 2+8=10 (h) Write the principles of green chemistry
e -with suitable examples.
Pofa @ f? RfnRRR aftmrs SEReE el 3 - o
REUeT mﬁ@aﬁwﬁﬁnwﬁqu -(PICE T TotmR R gaeTee Ted
IR ¢ ¢ . Y q fovan Gzl
(e) What are cradle to cradle carpeting? |

3 (Sem-4/CBCS) CHE SE 1/21314/5/6/C 13
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OPTION-C

' (Pharmaceutical Chemistry)

1. Answer any four questlons from the |

Paper : CHE- SE—4034

followmg ' ‘1x4=4
wers Azl ersffRees 9{@1 Rizprea wﬁﬁ?w S

(a)

(b)

(c)

@)

(e)

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/0 14

How many numbers. of N atoms are
present in vitamin By ?

foBIRA B, © R AT N o<1, Acwe
What are NSAIDs?

“NSAID 3T s gz

What is fermentation ?

&5 2l (FREAEY) [ 7a e

What is meant by a lead compound in
medicinal chemistry ?

258 I Reime widt (@or (fm? ¢a1l)
e [ e

Define chemotherapeutic index.
@A Trew e

Write the name of two enzymes anOlVCd

in the fermentation of glucose to citric
acid.

(FREWEHT) I (@ 701 TLEHIA AN
feran
() What is the heterocyclic ring system
' present in vitamin C? -

R ¢ 2 RBRsRE Rt R e

(h) What are barbiturates ?
- IRRHERE o & gee

2. - Answer the following any three questions :

2x3=6
Wﬁﬁﬁﬂ@%ﬁ@ﬁfﬁﬁ?%@ﬁﬂ°

(a) How many numbers of stereoisomerts
are possible for chloramphenicol ?
Which isomer is responsible for -
antibiotic behaviour ? Draw its"
structure.

FANFAETO (! BRI TS 2
| (PG SRS NR @St armR o wﬁ
TR 615 S|
(b)) What is the ‘hetérocyclic ring system
present in vitamin B, ? Write the name

of a disease that occurs due to the
deficiency _Qf vitamin Bj,.
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BT

f(‘d)

oo g
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3. Answer an
following :

f‘ | T Pl erReTR R i v e <

What is leprosy ? Which bacterial |
for leprosy ? Writ¢

(a) -

| %ﬁﬁ“ ‘B.ié' © RoRBIRRe R ﬁsiﬂ?_ : |
- feuffm By = TSR P 6 (@9 27 AT ?

Name the prodrug of dopamine 7 Why

-cannot dQ’pamine be administered

directly ?-

TR i 83 (gel) B 27 womiE

'Dgaﬁné‘agorﬁst and ant
Give examiples. - - :
%ﬁ%w@@ﬁﬁ% T4 M s 331 2 Twresel

What. are meant by hypnotics and
sedatives ? ' . '

R o Geibs T fr e 2

Wha_t are analgesics ? Write '

: th
| and structure of an analgesic glrizme
IFEDIEE & 202 B e Gd
AN WE N ATFS ey |

Y two. questions from the
5x2=10

species is responsible

the name n
, C "and st : - a

anti-lepros i ructure - of .
synthesis for jt,

,a'goriist ‘drugs.

g and propose 2
- 1+1+355

3

S e 2wy (PR UERN AP TS

| e (2 AT ot @B SR Y TS

o) eEfS YR

‘o).

(c)

)
. acid. How is it being synthesized by

3 (Serg-4/CBCS| CHE SE1/2/3/4/5/6/G 17

What are sulfa drugs? Draw the

structure of sulfacetamide. Under what
medical condition it is being used? -
Write the name of two bacterial species
against which it is active.

- . 141+142=5
m@ﬂqﬁm%{sﬂ?mﬂmﬁmﬁ@am-
o 3| o PR aellice 9RE 929
1 W2 75 QOERIE AW 4 I Rew
PEelaABoEe ARerd H|

Write the structure of ibuprofen. How
many numbers -of stereoisomers are
possible for ibuprofen and which isomer,
is-therapeutically active ? Mention two

advantages of ibuprofen over aspirin.

A1+2+2?5

AFIATE 5 TS A ARG
ARG SRR AT A (I

wizrgR B fems e whists
g TR o R B

Draw the structure of L-Glutamic
fermentation process? 1+4=5
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E’lv ) -
b

l‘g; w T ét%ézf ﬁgﬁmﬂéiﬁim@limﬁﬂﬂhﬂﬁj
| : ¢ ; ) nt b R - .
L : - Name two dieta Y Vitamin C leaching ?

W . . 77 commonly used f

i Co i L- R o or s nthesizi
e
it T R . . . 2+1+42=5
‘l";‘, . ‘. ;ﬁ-\zﬁq(}%ﬁ\mﬁ;m?mca@
o SRPEISOR A et R o TR 97
: o ‘ﬂ@:ﬁﬁ? afRe Heezq TS - s

i | W L - :
I () Write the structure activity relation*ship

f'l T (SAR) of penicillirj analogues

i | bt ' i

£ N ﬁﬁf?@%ﬂ TN (e I AeRTel opq
R B - a

‘4. Answer a
ny three :
following ;" Y three questions from the

el'YfS.Ources of vitamin C. . |
Of two bacterial strains.

aFooizEa gt 9nRE foIs &1
ARG CoI, I A | PR ST
Rl B TeR] 7 RIFTOT LGN DR
CIERGE ‘ |

(i) What is a cardiovascular agent?’
~ Write briefly about the medical
condition -in which glyceryl
trinitrate is used.. Propose a
method for the synthesis of
“glyceryl trinitrate. 1+2+2=5

IR OHREE (arers) W e
ARTEfoT R 3z fn foeeiEs

- (iii). How does parécetarﬁol decrease
_ the body temperature? 2

oRIENE R Teel v I FR?

(b) () In the ‘industrial preparation of
~ ethanol by fermentation —

egfodR® — .
(A) What is the starting material

- and what percentage of sugar
does it contain ? 2

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 19 g Contd.



RPN

(B)

- that can carry out the |

.'(C-)

TTORE X1 QM2 :

Name two microorganisms

fermentation. 1

T TR T B

What are the nutrient

| Substances added 7 1

(o)

A‘('E.)

‘What -is. the optimufn pH
range for the process?

u‘!‘i Tafeq QR‘WW pH m
fee "

What is the optimum
temperature - for this

process ? 1

9% ofmae o
2 PR AT e Base

F

3 Sem-4/CBCS; CHE o8 Y2345

I\:lelfi}; 18 addition of oXYgen ]
~~tSSary although the -

| process is anaerobic% ol
ey .

B amaswmm?
6/6 20 .

o .

P o re

()

(d

(ii)

) -

(i)

(i)

. any drug mol'ecule.‘

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/6 21

'drug Diazepam.

Write the name of four.food
sources of vitamin Ba. What is tl:xe
aliphatic side chain . present in

vitamin B2? 2+1=3

RoBIfE B,3 GIFFE! A Tow A ot

RBIfA By (O 31 GRS BIRS (B3
e ‘

What are benzodiazepines ? What

is the trade name of the drug

Diazepam ? In what medical
condition this drug is being used ?
Propose a synthetic pathway for
' 1+1+2+4=8

@CeTeiRafE 3T & =
wizafis qfafrs A &2 & e
wagre @3 ghiRd R FW W2
TiRafSene GBI AR S o

What are the essential requirements

for a compound to be an antibiotic ?

a1 (o1 @SR e AIRET

What is meant by retrosynthesis?
‘How . will it help to design a
synthetic route for a par!:icu}ar )
compound ? Explain by consulzlelzng
+4=

Contd._



- Rt oot gpop 1 T |

3 - Write briefly abo
S of barbiturate's.‘ _ 5
(e) . M Prd\'ricl'e two
o ~ lactam antj
‘stru_cture.

¢Xamp1¢s of B-
biotics with

Why are thege

(ii) 'DI‘aW the struct

L

q@m‘%{@?«sﬁcﬂﬁ_-

ut the development

i oside anti-
-are aminoglycos
) W'l’lr'zlitcs‘::l? Give: one exarr;;ﬁlgs. _
blontidn two adverse effects p+2 =14
I<\:/életegory of antibiotics. 1+1 =4

aRRaEsiEs e I ey |
. gh) TwRe | @2 S aﬁ?am%as
-ﬁaﬁﬁgﬁf@mﬁ@ﬁm )
(f). Let us éohsider the commercial

s erres s ) h
" sroduction of penicillin n a fed'batc
Il?eactor» by fermentation.

cafent fam efFrais (o R IR
iR R TR 2 T

(i) Which are the two main species
i)

.. 5
tation?

used for ferrngn

o AfFACES (@ 75t smid Ko

AR ¥ W2 :

) Which between thqs'e two is useg
i :ma'inly and why? )
oie fFae

<

| (i) What is the source of carbon? 1
i |
OIS BTG T /e

| i A f nitrogen? -
- (iv) Whatis the source Ol itrogen ?
ofe A HW T

Contd.
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(v)

(vi)

(Uz'i)

should

be
1

What pH range

maintained ?
pH 7 #fH G A ACA?

al compou!

- chemiC PO G
\Vhat SO]"S fOI- ploduC 9

used as precurl e |
of enicillin v and P )
' structures. ﬁqﬁ

T (& g

Give their
- (7

e Yy SR

HTel{ | D ¢le —

oA AT

1ds are

(iii) Starting from D-mannitol as the
easily available source for the
construction of the sugar
nucleus, describe how
azidothymidine can be
synthesized. 6
R ifveT RN TEEETe) O 21
size R T SRR (FACT UEo
=7, gl 4|

What are sulphonamides ?
Mention two uses of it. Describe a
method of synthesis of it
considering aniline as starting
material. Give one adverse effect

of using sulphonamides.
1+2+4+1=8

) ()

P AOTIREEN [ 2 R 75 IR
S 39| GRFERT A9 FeTE OIRE
FEE dEe I WY GIETer A2
Rt R c DRI RGN

(ii) What is co-trimoxazole ? 2]

Co SiEmaTEarE 3FE [ Iu02

R

Contd.
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OPTION-D

(Chemistry of Cosmetics and Perfumes )

Paperi: CI—I E-SE-4044

Answer any four questions from below :

1x4=4

oS Al Zid e bifbld oed *4 &

Q)

(i)

(i)

(i)

(v)

3 18em-+4/CBCSI CHE SE I a

Write the basic purpos¢ of using

face powder.
S P ICHEIRIER € <q

pre SCI’V&EWG necessa

w1 5 Sl 2

Why 1S ry in

shampoo ?

[ TEE SR REISIEES EEISH
Is hair spray related with hair loss?
(oa (e[ w19 B 2 7 Fopk Wiz (e ?

Name the essential oil used 1n cold

and cough remedy.
?I’H Tl FEO gld E_—[ o

et fadl |
State t

sl I @ FE GEI
monoturpenold

he statement True or False -

Geraniol is a
alfEE aRd S B

“.JJGG 26

W‘U‘?_}?m @W—GTZI

38
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(vi) Why is 2-phenyl ethyl alcohol used in .

perfumery.
2 -[ZF112e 2AZE FTRRE Rﬁﬂ QIERIGICRISER
299

(vii) Name the vitamin which is related with
good hair growth.
SR e o5E A 2 (R IR
1% Trzd 4

(viij) Mention the plant part from which

jasmine oil is extracted.
CEhiM (o SR (Pl O w12%[g <9 egd 9 W

TEY 4

stions from below :

2x3=6
Teg ol

Answer any three queé

5w T TR AEITELS ﬁﬁrﬂﬁcﬁm

() Write two side effects of hair dye.
(A% Og 9T ST 75 (@@ TE e 9 |

(ii) Write two main
shampoo.
GIEERCI Cb—"‘d"'ﬁ' R

natural somcc of geraniol

constituents of a good
BomA SrEd 4

(iii) Name one
oil and mention its one usc.

‘(ﬁﬂ?ﬂl—’if g o/ JI?I o3& ©eHS s IGRIRIGS
BPRIGIIGRRE ff!f/ Sz Wl

Conud.
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o) Ment: :
(iv) ?;ntlon fwo main types of face powder-
799 2 IO Wg SeuRI Trmd A |

() Write two natural sources of
2-phenyl ethyl alcohol.
2-feiR 2aize e B AigfoT T
TEY 41 |

(i) Write two primary‘ ingredien
. lipstick. ’ S :
froifoa go elam Som
om the

Answer any two questions fr

. following. : :
wore faa ePTIRs et o1 s sl 8
d cream and. vanishing

(d) Define col
m used during

cream. Why is cqld crea
- winter seas
human skin ?
7 i I (ofii fa T @i il | T
e fi OIoTS T T O A e
GATO B (PR o FI? |
perspirants and what 18
e its one pasic

two side effects-
0+1+27

(b) What are anti
its main use ? Writ

ingredient. Write its

14/3/6/6 28

ts of

5x2=10

on and how does it work on
2+(1+2)=5

{c)

(@)

()

3 15em-4/0BeS) CHE S 1121341370 29

~ human being? -

-how long-t

a1 Freifees IRQE TERY

‘do human

B m’m

mﬁm%mmﬁwwmﬁw

g A A TP 4Bl T e P

. s g7 e Sl 3

of talcum

Write chemical composition
es it help

powder. Why and how do
(ST 4TS AR Y | T
B W (@A 2iE e SoEd T -
How does lipstick ‘wbvrk on'>human

nuine reasons,

skin ? Mention four g€
erm use of lipstick may

hafm human beings. - 1+4=5
& oI IR AT

v fiffge s T T T
What is ﬁq‘uscbne‘ ? Me'ntion its natural -
source. Write its physical property. How
beings collect it from natural

source and use it? o
' 2+142=5

o ?Wﬁ@ﬁﬁ@@ﬂ@‘cﬁﬂW|m7
S o Frt | R T AFTET B Rl
(L R &d S IR PR

Contd.




. Answer any thr
~ following

3 {Sem-4/CBCS) CHE SE |

- Which State of Indj
-sandalwood 0il? Mention four
important factors on .which good
- composition of sandalwood oi] depends.
S 144=5
OISR (i N IETO o \5]5@% @'fiﬁﬁﬂﬁléﬁ

(o7 GEAIMA T2 QIS SHARMI (o]~
& ooy vz it S |
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(@) () Define essential oil, Mention, the

- basic technique of extracting

* - essential oil from nature. Mention
the special solvent which is used

- during extraction. | 1+2+1=4
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Mention how human beings use

. the following €ssential oils for
their purpose -

(1) Civetone, and (g) Eucalyptus oil.
. ' 2+2=4
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ee questions from the-

(iii) Write two basic ways by whic

) )

(i)

iV il.
alternative of 'rose o)

shaving cream

e essential oil.
. : 2
43¢ :@zﬁ‘il 4l - o

human "beings. us

T S S .
tion tF thods by which

on three me .
il)zztt)il can be extracted. Which

il
type of rose is mostly used for ol

. t ways
. ] 'hat dlfferen‘ -
extraction’? In W ed ? Mention one

oil may be us one
Z?ls;noit:al compound generally U |
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L f using
: ‘purpose 0
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(c) (i)

Write
’ O .
four chemical compounds

present i
tin good/best face powder

TS S ol one &
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o
pabasitheibest sou
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(iii) Write
the name
s of two
good

@ (i)
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(e)

(i)

(1)

(1)

(iii)

e
3

e therapeutic us

Write about th
of different essential oils.
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nail ename
poun

1? Write five
ds present
[H5=60)
14 A 2 TS < T
s o e fret

What is
basic chemical com

in nail enamel.

analysis

STl I (9% 5 el R 70T Tt L
difference petween

Write the basic .

hair removing crea

crearrl.
o TR fa O ofee e 10
oefe Tl

out the following -

Write in short ab o
were fral EEE GoFs I forll 8
(i) Cosmetic safety
(ii) Purpose of using ragrance
materials ' .
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@ Chep

“ =l€mijc

: remwér-%lﬁ What is a pai . h
: ? Ment; i

:g_n}ponents ntmg five basic chEOI'lSal

Mover, Present in nail rnll.Ch

~ polis

amein Polish g€ Wo s
LT el ‘us‘]_ng ] 781de ef;fects of nall
1+5+2+2=10

) What o
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- Poligh ; Yy do p;
?. Write © people use nail’

~ OPTION-E
( Pesticide thmistry)
paper : CHE- SE-4054

r any four of the following questions :
' S 1x4=4 .

Answe

o ST facereAl BT Teq &l ¢

Choose the correct one : | ‘

o% Teveh AR ST 8 |

() Which of the following is not an
‘organochlorine pesticide ?

oF R (@0 (e e SoIRE V2?2

(A) Malathione G
@ ppr  (EfEE
(C) Aldrin G -
(D) Endosulphan Q&R

The chemical used in ‘NationalAMalaria

(1)

Eradication Programme’ is
i TR e S s GRS Sigis
Qs (== | ‘
(A) B.H.C .2z
(8) DDT A
(C) 2,4-D 2, 4-f%
(D) Pyrethroid ARBRITE
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in foundation of

(iii) N
atura] ingens:
S L, . .
’lfiaves is CClicide obtained from neem (v) 'ghf_el pesticide used ‘ !
I iz uildings for preventing termite attack -
- AR 3 i :
20z 1% ) etigefoe FEAE ;ii e e 2] ] e S ETPI
(A} : "5 \;g GIGERIIGE 3 T <Bl9 j’1 EE
Azadrirachiiy, e g I AR (2R
(B) RIS, (A) Gammaxene
Nicotine ReilEn
“(CJ i (B) DDT
La“fsol'le IR
D) ?57 (©) Aldrin
QCdySOn ﬂ?‘t@ﬂ
i )
W) g, % 3 (D) Endrin
| foncifrffy hi it IR g GG
ST '\lng | g e amoné thb (v1) Ratenone is a/an
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) 2, 4-D (A) insect hormone
5 2,4 % &5 @
Parathio (B) natural insecticide
r“pf‘?i[?[m 7 ; _a— e
{C Sie ﬁl;f, &< YDl ®1<e
) thrai o ; . d
gl (C) bioherbiciae
el

Al .-I:_1

(D) ‘weedicide
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: (Ull) A]achol. is anv '
IR Ry

@ o

. ganophoSphate pesticide
@ TR S
7 8nilide pesticige

© oo
r . _
T S&nochlorine pesticide

L

Give very short answ
(any three)

(1)

(i)

()

(v)

- What do you mean by

herbicides ? Give

nticides ? Give an

What are rode
ly used rodenticide.

example of common
FELTAPTE (I 7 AYRTSIR IO oy

TR I rgael

can algaecide be considered as a
pesticide? Which algaecide is used to

control algal blooming in ponds, lakes

etc? ,
cmawwmzﬁ?ﬂmmﬂ 1oy A ~ARC 2
@R <o i LTS R
Ccal el TS T T4 WY |

What is the full form of DDT? In which
class of pesticide it belongs to?
%@ﬁaﬂvf@ﬂﬁf?ic@ﬂmﬁaﬁﬂv‘ﬁ
o THS?
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(b)

(c) Methods of

' R A
@

(e)

Agriculturg] Pestici

. RS Ripperss

des

) €s. Discuss in detail
different Classes of pesticides by giving
class and their mode

example of each
of action.
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(b)

(c)

(@)

o e =1 Foarw wam Rfes
iRt woy ATSTE T i< Twymzem
A0S Reiveia s 1 |

What are organochlorine pesticides ? -
Give chemical structure of any two
Such pesticides. Write the applications

of some commonly used organochlorine
pesticides. How ca

n these pesticides
affect human health ?

(S T4 Siormearatg o o T Rtz v
%ﬁf‘m AR 5157 oy LTS g BiEETS
B Tt Rel. e

2l |

g R T Sy
=) ﬂ?m‘ﬁ A2 =CZ T

[aff_ﬂf.?f - 1‘3= ?.i l;’w‘a
TR qm e B
V\{E]‘at do YOUu megp by Pesticiq
residue ? Discuss ItS impact on huma§
heath. Describe Varioys Methods of
pesticide residue gn -




() Explain in g,
Plain in detail the benefits and
an

, adverse eff i
~ pesticides, eets of di.fferent kinds of

£ B IS s R 2or

).
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OPTION-F .
(Fuel Chemistry) -
CHE- SE-4064

Paper :
Answer any four of the fol_lowiﬁgdue'stions :
R

What is the formula of producer gas?

(a)
- R (T I AT B2
(b) What is flash and fire p:oint of
lubricant ? N
(c) What do you mean by power aicohol ?
Sl o e I & @
(d) Define octane nﬁrnb'ér.‘
- o3 YR I T
(e) Give two examples Qf antiknocking
agents. .
PRt ecar B (MBS |

Define calorific value of a fuel.

s @ R (S R R

(g) Define pitch.
 folpee e o

0
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- ) _ Give two examples of gaséo.us .fuel'.

| Cﬂaﬂmm SriRer i

SWer any three of the following

Write the. di

o ;%C;;lz’tic Cracking ? ‘ |

@ Mention T R e ke

-~ of isopréneo‘;g:tes for the manufactur®
fochemical.

at is th con . '

Ea iiVes?
| %%@ﬂ@%ml
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2x3=6

. "E‘q . |
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3. Answer any tw

' ors R 1 erera T i 3
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é ultimate analysis of coal.

Wﬁ%ﬁz@%‘m

. o fe i Lestions :
o.of the followxpg quessx2=10 |

1] Defin
TR FOS

si " fossil
7 Is classified ? Why. are fos
@ i%?sa;:gg‘iled as the most important

o D .
source of gr}ergy today ' 0e3=5

AR EFEE EfReE= N A? wiferfer |
Srapd B gl feT S ﬁsm. 94l
Fq {?

(p) What 'is coal? Discuss briefly about
the compositions and types of coal.

' 2+3=5
<7 B TR oo o Rfem e esike
e I :

: i stes on the following :

(c) Write short not ne
py (ol Tt &
(i) Coal gas
FTel (1R
(@) Water gas

wend (R
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(d) Classify petrole
types of hydroc

arbon.

R efw ) e
e REReEEEc e ol of

13 R
e RIS ooy oy,
What 1s
h alysts us
qrsfrogenatlon pI‘OCeSSej for catalytic
R GG s 2+3=5
£ T e o :
R Gl e &5 %ﬁaﬁ? ORIk
: USEAE I BT R

Write shortly 4
petrochemicals

T o
RIS e
o TR e e foral |

AnSWer an

Il aromatic

4

Questiony,. © thre
tions . "€ of the following

T figy o
Rz Rofisy 10x3=30

r : ‘ € 2

fhfpara“f)n o . Mbe the method of
0] Sl
mmhmrm profempyle”e oxide by
. g 5 G‘S’R‘\B ~ SS. 5+5:10
;ﬁz%ﬂ wﬁizﬁ (IS AW
IRE @ N AT o5 o
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2
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M according to the

(b)

(c)

(@)
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Describe the general properties of

lubricants 11 brief. How are lubricants
classified ? 7+3=10
S5 AR (s( 7 1 <5 | R DRI
o TR F9 ol T |

What 18 biomass? Briefly discuss
different types of biomass. 4+6=10
g e e S QTR 87 BT

I GIPDIRREI
fil. Calculate presence of percentage
of C, H, N and S from the following

observations for a sample of coal :
3

2.1g of coal. is burnt in a
. combustion tube. The increase in
" weight of anhydrous CaCl, is

0.53 g and increase in weight of

KOH tube is 5.73g.

C, H, N < S-7 ToifEfox *rea wifwwid

e oEfEEeR o[ el e

2.1g T ol TS w2 T LA | S

CaCl,-3 3% 93 T# 0.53g W€ KOH

A 4fEe v 7' 5.73¢!
(ii) Wwrite the positive aépects of

nuclear energy. 5
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(e} What is biodiesel ? How is plodletiee
produced ? - Discuss. - Write 10
" -advantages of biodiesel. . 3+3+4= ‘
TR fe R e s o 2
s . l .
S 1 | 31 Reret apagraa SRR Fidl
¥ What is fractio
briefly the

nal distillation ? Di§cusﬁ
principle of fractlonfﬂlf
distillation. Explain the process 100
fractional distillation, 2+3+5= o
wa%ﬂm%?iaﬁwwm'w' |
P RS Mo 1S 2prapt 2w | |
(9) How Is viscosity of lubricant
' measured? Discuss the importance
of animal oj) and vegetable oils. '
5+5=10
- TR O Awe! e i w9 Y
"I IR ST (oo Ry s <
(R} Mentiop the ef
. te

SIETRSR| s
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